..DID: 3573 ..TXT: PSC NO: 87 GAS STATEMENT TYPE: NGV COMPANY: NEW YORK STATE ELECTRIC & GAS CORPORATION STATEMENT NO: 16 INITIAL EFFECTIVE DATE: 06/01/98 STAMPS: Cancelled by Statement NGV Number 17 Effective 07/01/1998 RECEIVED: 05/26/98 STATUS: Cancelled EFFECTIVE: 06/01/98

STATEMENT OF NATURAL GAS VEHICLE RATE

June 1, 1998

Owego District

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor	Rate	2		te	Applicable Natural -Gas Vehicle Rate-				
	per Therm	per Gal. Equivlnt	per Therm	per Equi			er erm	per Ga Equivl		
Category 12	A \$0.70	776 \$0.8	07	\$0.943	45	\$1.0	076	\$0.7	79706	\$0.909
Category 11	в \$0.70	776 \$0.8	07	\$1.390	53	\$1.	586	\$1.1	5979	\$1.322
Category 10	C \$0.70	776 \$0.8	07	\$0.924	19	\$1.0	054	\$0.8	32600	\$0.942
Category 22	A \$0.72	\$0.8	30	\$0.943	45	\$1.0	076	\$0.8	31740	\$0.932
Category 21	в \$0.72	\$0.8	30	\$1.390	53	\$1.	586	\$1.1	8013	\$1.346
Category 20	C \$0.72	810 \$0.8	30	\$0.924	19	\$1.0	054	\$0.8	34633	\$0.965
WIT	' Н	C	о м	Ρ	R	Ε	S	S I	I O	N :
Category 32	A \$0.57	825 \$0.6	59	\$0.943	45	\$1.0	076	\$0.8	33357	\$0.950
Category 31	в \$0.57	\$0.6	59	\$1.390	53	\$1.	586	\$0.9	99973	\$1.140
Category 30	C \$0.57	825 \$0.6	59	\$0.924	19	\$1.0	054	\$0.9	91751	\$1.046
W I T	н о и	Т	C	O M	Ρ	R	Ε	S S	I O	N :
Category 32	A \$0.55	791 \$0.6	36	\$0.943	45	\$1.0	076	\$0.8	31324	\$0.927
Category 31	в \$0.55	791 \$0.6	36	\$1.390	53	\$1.	586	\$0.9	97940	\$1.117
Category 30	C \$0.55	791 \$0.6	36	\$0.924	19	\$1.(054	\$0.8	39717	\$1.023
Category 4	\$0.72	2810 \$0.8	330	\$0.943	45	\$1.	076	\$0.8	31740	\$0.932

Issued By: <u>George E. Bonner, Vice President, Binghamton, New York</u> (Name of Officer, Title, Address)

PAGE: 2

STATEMENT OF NATURAL GAS VEHICLE RATE

June 1, 1998

Goshen District

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor Rate per per Ga Therm Equivl	Cei al. per	ket Based ling Rate per Gal. Equivlnt			
Category 1A	\$0.57563	\$0.656	\$0.98069	\$1.118	\$0.82872	\$0.945
Category 1B	\$0.57563	\$0.656	\$1.39053	\$1.586	\$1.15979	\$1.322
Category 1C	\$0.57563	\$0.656	\$0.88139	\$1.005	\$0.78747	\$0.898
Category 2A	\$0.59594	\$0.680	\$0.98069	\$1.118	\$0.84903	\$0.968
Category 2B	\$0.59594	\$0.680	\$1.39053	\$1.586	\$1.18010	\$1.346
Category 2C	\$0.59594	\$0.680	\$0.88139	\$1.005	\$0.80778	\$0.921
WITH	I	с о м	P R	E S	S I O	N :
Category 3A	\$0.50619	\$0.577	\$0.98069	\$1.118	\$0.88190	\$1.006
Category 3B	\$0.50619	\$0.577	\$1.39053	\$1.586	\$0.99971	\$1.140
Category 3C	\$0.50619	\$0.577	\$0.88139	\$1.005	\$0.88139	\$1.005
W I T H	O U T	C	O M P	R E S	5 S I O	N :
Category 3A	\$0.48588	\$0.554	\$0.98069	\$1.118	\$0.86159	\$0.982
Category 3B	\$0.48588	\$0.554	\$1.39053	\$1.586	\$0.97940	\$1.117
Category 3C	\$0.48588	\$0.554	\$0.88139	\$1.005	\$0.87175	\$0.994
Category 4	\$0.59594	\$0.680	\$0.98069	\$1.118	\$0.84903	\$0.968

PAGE: 3

STATEMENT OF NATURAL GAS VEHICLE RATE

June 1, 1998

Lockport District

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor Rate per per Ga Iherm Equiv]	Cei al. per	ket Based ling Rate per Gal. Equivlnt	Applicabl -Gas Vehi per Therm		
Category 1A	\$0.75206	\$0.858	\$1.00486	\$1.146	\$0.84926	\$0.968
Category 1B	\$0.75206	\$0.858	\$1.39053	\$1.586	\$1.15979	\$1.322
Category 1C	\$0.75206	\$0.858	\$0.86494	\$0.986	\$0.77267	\$0.881
Category 2A	\$0.77218	\$0.880	\$1.00486	\$1.146	\$0.86938	\$0.991
Category 2B	\$0.77218	\$0.880	\$1.39053	\$1.586	\$1.17991	\$1.345
Category 2C	\$0.77218	\$0.880	\$0.86494	\$0.986	\$0.79279	\$0.904
WITH	ł	С О М	PR	E S	S I O	N :
Category 3A	\$0.60581	\$0.691	\$1.00486	\$1.146	\$0.82260	\$0.938
Category 3B	\$0.60581	\$0.691	\$1.39053	\$1.586	\$0.99952	\$1.140
Category 3C	\$0.60581	\$0.691	\$0.86494	\$0.986	\$0.86494	\$0.986
W I T H	Ο U Τ	C	O M P	R E	S S I O	n :
Category 3A	\$0.58569	\$0.668	\$1.00486	\$1.146	\$0.80248	\$0.915
Category 3B	\$0.58569	\$0.668	\$1.39053	\$1.586	\$0.97940	\$1.117
Category 3C	\$0.58569	\$0.668	\$0.86494	\$0.986	\$0.86494	\$0.986
Category 4	\$0.77218	\$0.880	\$1.00486	\$1.146	\$0.86938	\$0.991

Issued By: <u>George E. Bonner, Vice President, Binghamton, New York</u> (Name of Officer, Title, Address)

PAGE: 4

STATEMENT OF NATURAL GAS VEHICLE RATE

June 1, 1998

Elmira District

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor Rate per per Ga Therm Equivl	Ceil al. per	tet Based ing Rate per Gal. Equivlnt			
Category 1A	\$0.76816	\$0.876	\$0.98731	\$1.126	\$0.83434	\$0.951
Category 1B	\$0.76816	\$0.876	\$1.39053	\$1.586	\$1.15979	\$1.322
Category 1C	\$0.76816	\$0.876	\$0.85753	\$0.978	\$0.76816	\$0.876
Category 2A	\$0.78828	\$0.899	\$0.98731	\$1.126	\$0.85447	\$0.974
Category 2B	\$0.78828	\$0.899	\$1.39053	\$1.586	\$1.17991	\$1.345
Category 2C	\$0.78828	\$0.899	\$0.85753	\$0.978	\$0.78828	\$0.899
W I T H	ł	с о м	P R	E S	S I O	n :
Category 3A	\$0.56823	\$0.648	\$0.98731	\$1.126	\$0.83670	\$0.954
Category 3B	\$0.56823	\$0.648	\$1.39053	\$1.586	\$0.99952	\$1.140
Category 3C	\$0.56823	\$0.648	\$0.85753	\$0.978	\$0.85753	\$0.978
W I T H	Ο U Τ	С	O M P	R E S	S I O	N :
Category 3A	\$0.54811	\$0.625	\$0.98731	\$1.126	\$0.81657	\$0.931
Category 3B	\$0.54811	\$0.625	\$1.39053	\$1.586	\$0.97940	\$1.117
Category 3C	\$0.54811	\$0.625	\$0.85753	\$0.978	\$0.85753	\$0.978
Category 4	\$0.78828	\$0.899	\$0.98731	\$1.126	\$0.85447	\$0.974

PAGE: 5

STATEMENT OF NATURAL GAS VEHICLE RATE

June 1, 1998

Combined District

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor Rate per per Ga Therm Equivl	Ceil al. per	ket Based ling Rate per Gal. Equivlnt			
Category 1A	\$0.76816	\$0.876	\$0.98731	\$1.126	\$0.83434	\$0.951
Category 1B	\$0.76816	\$0.876	\$1.39053	\$1.586	\$1.15979	\$1.322
Category 1C	\$0.76816	\$0.876	\$0.87975	\$1.003	\$0.78600	\$0.896
Category 2A	\$0.78828	\$0.899	\$0.98731	\$1.126	\$0.85447	\$0.974
Category 2B	\$0.78828	\$0.899	\$1.39053	\$1.586	\$1.17991	\$1.345
Category 2C	\$0.78828	\$0.899	\$0.87975	\$1.003	\$0.80612	\$0.919
WITH	I	с о м	P R	E S	S I O	N :
Category 3A	\$0.56823	\$0.648	\$0.98731	\$1.126	\$0.82459	\$0.940
Category 3B	\$0.56823	\$0.648	\$1.39053	\$1.586	\$0.92219	\$1.052
Category 3C	\$0.56823	\$0.648	\$0.87975	\$1.003	\$0.87975	\$1.003
W I T H	Ο U Τ	C	O M P	R E S	S S I O	N :
Category 3A	\$0.54811	\$0.625	\$0.98731	\$1.126	\$0.80446	\$0.917
Category 3B	\$0.54811	\$0.625	\$1.39053	\$1.586	\$0.90207	\$1.029
Category 3C	\$0.54811	\$0.625	\$0.87975	\$1.003	\$0.87975	\$1.003
Category 4	\$0.78828	\$0.899	\$0.98731	\$1.126	\$0.85447	\$0.974

PAGE: 6

STATEMENT OF NATURAL GAS VEHICLE RATE

June 1, 1998

Champlain District

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor Rate per per Ga Therm Equivl	l. per pe		ole Natural nicle Rate- per Gal. Equivlnt	
Category 1A	\$0.63730	\$0.727 \$0.98		\$0.82872	\$0.945
Category 1B	\$0.63730	\$0.727 \$1.39	9053 \$1.586	\$1.15979	\$1.322
Category 1C	\$0.63730	\$0.727 \$0.88	\$1.005	\$0.78747	\$0.898
Category 2A	\$0.65742	\$0.750 \$0.98	8069 \$1.118	\$0.84884	\$0.968
Category 2B	\$0.65742	\$0.750 \$1.39		\$1.17991	\$1.345
Category 2C	\$0.65742	\$0.750 \$0.88		\$0.80759	\$0.921
WIT	Н	С О М Р	R E S	S I O	N :
Category 3A	\$0.44760	\$0.510 \$0.98	\$069 \$1.118	\$0.86156	\$0.982
Category 3B	\$0.44760	\$0.510 \$1.39	9053 \$1.586	\$0.99952	\$1.140
Category 3C	\$0.44760	\$0.510 \$0.88	\$1.005	\$0.88139	\$1.005
W I T H	O U T	C O	M P R E	S S I O	N :
Category 3A	\$0.42748	\$0.487 \$0.98	\$069 \$1.118	\$0.84143	\$0.959
Category 3B	\$0.42748	\$0.487 \$1.39	9053 \$1.586	\$0.97940	\$1.117
Category 3C	\$0.42748	\$0.487 \$0.88	\$1.005	\$0.88139	\$1.005
Category 4	\$0.65742	\$0.750 \$0.9	8069 \$1.118	\$0.84884	\$0.968